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Match #39


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, Adam Fine and Dan Goff are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
According to legend, this city was founded by Cadmus, who planted dragon’s teeth to create its first inhabitants. Later on, its king committed a horrible crime by kidnapping Chrysippus. This same king was eventually killed by his son. Later on, a civil war tore this city apart in the story of “Seven Against” this city. In Greek literature, what city was ruled by Laius (LAY-us), Creon and Oedipus (eh-DIH-pus)?

ANSWER: Thebes
2.
It is calculated by the square root of the quantity 2 times G times the mass of the object, all divided by the radius of the object end quantity. For Mars, it’s 5.0 kilometers per second; for Jupiter, 60 km per second; and for Earth, 11.2 km per second.  What is this minimum speed needed to get out of a planet’s gravitational field? 

ANSWER:
escape speed or escape velocity

3.
Between 775 and 935 AD, it was probably the largest city in the world. Neighborhoods in it include al-Mansour and Sadr City. Its two halves, Risafa (ree-SAH-fah) and Karkh, are created by the Tigris River, on which it lies. What city is the capital of Iraq? 

ANSWER: Baghdad, Iraq

4.
What Irish playwright created the characters Charles Surface, Lady Sneerwell, Lydia Languish and Mrs Malaprop in his plays The School for Scandal and The Rivals? 

ANSWER: Richard Sheridan
5.
A BBC documentary that aired in August recounted some of the supposed 638 attempts to assassinate this man since 1959. Lately, medical problems including intestinal surgery, have led what man to cede power to his brother Raul, who is now temporarily serving as President of Cuba?

ANSWER: Fidel Castro
6.
Making up the family Spheniscidae (sfee-nih-SEE-dye), there are 16 to 19 species of these flightless birds, including the Humboldt, Magellanic and emperor. Name this aquatic bird that is the Linux mascot and found in the Southern hemisphere.

ANSWER:
penguin
7.
While most Latin nouns ending in –us (spell it out) are in the second declension, a few such nouns, such as manus and spiritus, are in what declension?

ANSWER: fourth declension

8.
 It was a good year for Theodore Roosevelt – he won the Nobel Peace Prize for negotiating an end to the Russo-Japanese War and was the first sitting US President to travel abroad, visiting the still under construction Panama Canal. What year is most famous for being the year the San Francisco earthquake struck and for being 100 years earlier than the year in which Congressional midterms were most recently held? 

ANSWER: 1906

9.
In addition to its biggest signing, this network will take over a portion of the Nascar broadcasting schedule in 2007.  This year, it picked up coverage of the Breeder's Cup along with The Contender, all from NBC.  Based in Bristol, Connecticut is what cable network, who in exchange gave Sunday Night Football to NBC in order to broadcast Monday Night Football?

ANSWER: ESPN (Or, if you prefer, the Entertainment & Sports Programming Network)

10.
THIS IS A COMPUTATION QUESTION.  How many syllables are in 12 haikus, keeping in mind that there are 17 syllables in each haiku?

ANSWER:
204
11.
The plaintiff filed a petition to get a writ of mandamus in the Supreme Court, so he could become the District of Columbia’s Justice of the Peace. However, the Supreme Court held that its original jurisdiction could not be changed, invalidating Section 13 of the Judiciary Act of 1789. In what 1803 Supreme Court case did Chief Justice John Marshall hold that the Court had the power of judicial review?

ANSWER: Marbury v. Madison
12.
Al Jolson bought the rights to this work in 1932, but he lost interest in staging it.  Made into an opera in 1935, Todd Duncan and Anne Brown were the original portrayers of the title characters, while John Bubbles played cocaine dealer Sportin’ Life.  Containing the aria “Summertime”, what opera about African Americans in Charleston, South Carolina was composed by George Gershwin?


ANSWER:  Porgy and Bess
13.
In 1970, he published “Vitamin C and the Common Cold,” and took several grams daily. He won the 1954 Nobel Chemistry Prize for his work on chemical bonds and the 1962 Nobel Peace Prize for his work to ban above ground nuclear testing. What scientist is the only person to win two solo Nobel Prizes? 

ANSWER: Linus Pauling
14.
It is the first name of the University of Wyoming student murdered in 1998 for his homosexuality, the English poet that wrote Dover Beach and the American commodore that opened Japan to trade in 1854 – their last names are Shepard, Arnold and Perry, respectively. What name is most familiar as the first Gospel of the New Testament? 

ANSWER: Matthew

15.
This phylum includes animals such as the tunicates, lancelets and sharks. What phylum also contains the vertebrates and is characterized by the presence of a notochord? 

ANSWER:
Chordata
Second period, 10 directed questions per team, 10 points each
Set A questions have an “A” after their number; set B questions have a “B.” 

1A.
What street in Manhattan becomes the “Canyon of Heroes” during ticker-tape parades, and extends along the entire length of the island? 

ANSWER: Broadway 
1B.
Phineas, Gene Forrester and Brinker Hadley are the main characters in what novel set at Devon School and written by John Knowles? 

ANSWER: A Separate Peace
2A.
THIS IS A COMPUTATION QUESTION.  What is the distance between the polar points (4, pi over two) and (3, pi)?

ANSWER:
5
2B.
In dietary science, what does BMI stand for?

ANSWER:
body mass index
3A.
The word contraction o’clock is a contraction of what three words?

ANSWER: of the clock (note: No research I have found indicates it means, “on the clock.”) 

3B.
Nickel Mines, Pennsylvania; Cazenovia, Wisconsin; and Bailey, Colorado were all linked in September and October by what type of tragic event?

ANSWER: school shootings (Accept clear-knowledge equivalents)

4A.
Old ships and pieces of old bridges are being sunk for use as what kind of artificial environments for life underwater, more commonly associated with coral?

ANSWER: reefs
4B.
THIS IS A COMPUTATION QUESTION.  What is the mean minus the median of the following group of five numbers:  12, 38, 20, 37, and 13?

ANSWER:
four (mean of 24 minus median of 20)

5A.
With the retirement of Mike Wallace, Morley Safer is now the longest-running correspondent on what CBS Sunday evening news magazine program?

ANSWER:  “60 Minutes”
5B.
Margaretha (mar-gah-REH-thah) Zelle (ZEH-leh) was the real name of what dancer, a Dutchwoman executed as a spy on October 15, 1917? 

ANSWER: Mata Hari
6A.
What French philosopher wrote the works Emile (eh-MEEL), Confessions and The Social Contract?

ANSWER: Jean-Jacques (ZHON-zhock) Rousseau (roo-SOH)

6B.
Rounded to 3 significant figures, what is Avogadro’s number?

ANSWER:
6.02 times 10 to the 23rd
7A.
THIS IS A COMPUTATION QUESTION. What is the average of 12, 38, 91, 29, 33, and 37?

ANSWER:
40
7B.
THIS IS A COMPUTATION QUESTION.  How much floor space is left uncovered in a square room of perimeter 48 feet that contains a square rug of perimeter 20 feet?

ANSWER:
119 square feet
8A.
“The Window” and “Time Passes” are the first two parts of what novel by Virginia Woolf about the Ramsay family?  

ANSWER: To the Lighthouse
8B.
Andrew Jackson issued what executive order in 1836 requiring that gold and silver be used to pay for government land?

ANSWER: Specie Circular
9A.
 What dynasty that claimed descent from Mohammad’s daughter, and was named for her, ruled Egypt between 910 and 1171 AD, before the Mamluks (mam-LOOKS)?

ANSWER: Fatimids

9B.
Tulips and Chimneys and Eimi (ay-EE-mee) are poetry collections by what poet, noted for his unconventional punctuation and non-use of capital letters?

ANSWER: E.E. Cummings
10A.
What does the m stand for in the term maser?

ANSWER:
microwave
10B.
What Silicon Valley tech firm announced in October they were spending $1.6 billion to acquire the video site YouTube?

ANSWER: Google
Third period, 15 toss-ups, 10 points each

1.
The “green” ones described a group of Irishmen under Eoin O’Duffy that fought for Francisco Franco in the 1930s. The “blue” ones were O’Duffy’s Fascist supporters in Ireland. The “red” ones were Giuseppe Garibaldi’s non-fascist supporters in Italy. The “black” ones were Mussolini’s supporters in Fascist Italy. What word goes after all these colors, and also after “brown” when referring to Adolf Hitler’s supporters? 

ANSWER: shirts or shirted movements (accept answers with “shirt” in them somewhere.)
2.
THIS IS A COMPUTATION QUESTION. What is the surface area of a cube with a volume of 27 cubic miles?

ANSWER:
54 square miles
3.
For botanists, it refers to the layer of cells that surround plant leaves. For humans, it is covered by 30 layers of dead cells. What is the topmost layer of the skin?

ANSWER:
epidermis
4.
During this novel, the title character attends the all-girls’ Beardsley School, which focuses on social life and not academics, marries Richard Schiller and dies at age 18 while giving birth to a stillborn baby. The narrator dies of a heart attack while awaiting trial for the murder of the writer Clare Quilty. Humbert Humbert has an affair with his 13-year-old step daughter in what novel by Vladimir Nabukov? 

ANSWER: Lolita 
5.
A magic square with rows and columns totaling 34, and the date 1514 in the bottom row, can be found in his engraving Melancholia I (read as “Melancholia One.”)  St. Jerome in His Study and The Four Horsemen of the Apocalypse are well-known woodcuts by which most prominent German artist of the Northern Renaissance?

ANSWER:  Albrecht Durer
6.
This church produces the New World Translation of the Bible. Its most famous leaders were Charles Taze Russell and Joseph Rutherford. The Watchtower is the main publication of what church best known for their refusal to stand during the Pledge of Allegiance? 

ANSWER: Jehovah’s Witnesses

7.
It is different from multi-level marketing such as Amway in that the sale of goods is not the primary purpose, rather its primary purpose is bringing in new investors and their money. What type of fraud falls apart once the supply of new investors dries up and is very similar to a Ponzi scheme?

ANSWER: pyramid scheme (accept Ponzi scheme before “Ponzi” is said)

8.
The Sonoran and Mojave deserts are considered relatively "wet" due to the precipitation received during these annual events.  In the Southwest, it occurs from June or July into September, while an analogous event takes place at the same time in the lands bordering the northern Indian Ocean.  Flash floods are a high possibility during what annual events known for bringing high amounts of rain?

ANSWER: monsoon
9.
One meaning of this nine-letter word is “to beg on the streets,” describing the shape formed by the beggar and her or his outstretched arm. What is this term that also describes a narrow strip of land that extends from the main body of a state or country, such as those found in West Virginia?

ANSWER: panhandle
10.
In Japan, they are appropriately often made with a single large, red pip representing the number one.  The Romans used icosahedral, or twenty-sided, versions of what gaming objects often used to determine how far a player progresses in games such as Dungeons and Dragons, Risk, and Yahtzee?

ANSWER:  dice (or die in singular form)

11.
This technique’s main advantage is that the processor uses less cycle time, thus increasing instruction bandwidth in most cases. In the classic RISC version there are 5 stages, with Pentium 4 using a 31 stage one. Name this technique used in the design of microprocessors to increase their performance, where one command or process’s output is the input for the next command or process. 

ANSWER: Pipelines
12.
The seventh ruler with this name was murdered in 145 BC by his uncle, the eighth. The fifth ruler with this name lost Syria and Judea, for good, to the Seleucids. The fifteenth, and last, ruler with this name was Caesarion, the son of Julius Caesar and Cleopatra. What name was shared between 367 and 30 BC by fifteen kings of Egypt?

ANSWER: Ptolemy
13.
This TV series was based on Earl Hamner’s book Spencer’s Mountain, which was a memoir of growing up in Virginia during the Depression. In what 1970s TV show did grandparents Zeb and Esther live with parents John and Olivia and seven children: Mary Ellen, Jason, Erin, Ben, Jim Bob and of course, John-Boy? 

ANSWER: The Waltons
14.
He was the youngest son of the Marquis d’Auvergne (doh-VAIRN). His “sire,” or the one that made him what he is, was Magnus, and his relationship with Akasha made him even more powerful. What French-born vampire features prominently in Anne Rice novels such as The Queen of the Damned and Interview with the Vampire?

ANSWER: Lestat de Lioncourt

15.
Meyer Friedman and Ray Rosenman believed this group of personality traits led to an increased risk of coronary heart disease. What class of personality is associated with being strongly competitive, always being in a rush and often being aggressive, and is associated with a letter of the alphabet? 

ANSWER: Type A personality

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1. 
He tells his story to a poor man with the same name. Like Odysseus, he defeats the giant Polyphemus (paw-lee-PHEE-mus). Unlike Odysseus, he visits the isle of Serendip, escapes from a flock of angry rocs and kills the Old Man of the Sea. What sailor made seven voyages in the tales of the Arabian Nights? 

ANSWER: Sinbad the Sailor

2.
The Egyptians performed this mathematical operation by breaking down the two terms into powers of two and then performing a large number of doublings and additions. A large capital letter pi is used to represent this operation on a series much as a large capital letter sigma is used to represent the sum of a series. A product is the result of what arithmetic operation?

ANSWER:
multiplication
3.
This creature discovered the first human beings within a clamshell, according to the traditions of several Western tribes.  He also brought salmon and berries to man, as well as the sun and the moon, which he stole from the Sky Chief.  What dark bird, the rival to Coyote, likely did not fly to Baltimore to found an NFL football team?

ANSWER: Raven
4.
THIS IS A COMPUTATION QUESTION. How many protons are in a carbonate ion, which has formula CO3?

ANSWER:
30
5.
The final evacuation of this city began when Armed Forces Radio played “White Christmas” on April 29, 1975. Operation Babylift and Operation Frequent Wind were the evacuations of some 15,000 people from what city, the former capital of South Vietnam?

ANSWER: Saigon (prompt on Ho Chi Minh City)

All questions ©2006 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

